X
@
(BN L)
12000 10140 3900
6000 | 3000 3960 2000 l 4480 2100 1800
| 1 N‘
G — — : g O
g & ! g/ £
o 1if -
o HE
<
(—1 718 = e——— = 7 N
; mE ) ERE(N) —=
4 __ I §
T T I T = -1 “ o~
s g
E 2y R 6.6 ]
@ D 20V 0.7 i 7
II O \ 68D T 1 -7
L — °
i — ;]
o o I o o o
5 | g A = g g
@; g IS _ _ _ _ _ _ _ i[mi = I Ut
o |
S i MERRESST (1) |
MRERREIST (2) D
25V ! ]
- D— R b6 65D °
E @ D 20V i E
/] G-
X
ACP 4 2
C|
CK-4 | _
=4 ' =
3 g 7 823
N 8 SR
} T T
G ——— = — —h— L
x Q
/o Lo Rl
1025 l
! ! ! w5 &
—_— A RS bR s
| 5760 | 6000 | 140 1800 R— | A ARBEME
] 9040 —D— | Kk BEEEE (P
—g—| 2EBERY-T
% ‘a é —@— | BARERABSEHERE
(ERAERER ESDE (PSO60NL-0455)
| 2BETEER S=1:100
AEEY X b
% 5 G HRE
©) 6.46 12.7¢
@ 9.5¢ 15.96
o) 9.5¢ 19.1¢
@ 9.5¢ 2.2¢
® 12.7¢ 25.4¢
® 12.7¢ 28.6¢
@ 15.96 28.6¢
I HE4 HEES VRRETERT FBRAESER(1)$25618
=5 = 4. 5 ABIERE R = 5
REY57 - FECXBELL Y —HRHFETE MEERE 2ETER v 1 BERACERRA oeren
HEEA B 2021.10 fiaR s=1:100 R RERAESIRET K F5IR1696-1 D ENk




